(18) The column vectors of a 5 x 4 matrix must b
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(19) The system AT =
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(20) If A% = I, then the matrix A must be invertible.
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(21) If ¥y, %, ..., Uy and Wy, @y, . .., Wy, are any two bases of a subspace V of R then n must be equal
tom
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(22) If ¥ and & are vectors in R* then ¥ is a linear combination of 7 and .
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(23) If the matrix A is invertible then the matrix 5A is also invertible.
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(24) If the kernel of a matrix A consists of the zero vector only then the column vectors of A must be

linearl /y independent.
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(25) If ¥, 4, W are vectors ih R? then ] must be a linear combination of ¢ and 4.
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(26) The matrix | - 2 | is invertible.
s L L

~

(27) If the vectors ¥, 7, U3 and ¥, are linearly independent then so are the vectors U1, Uy, and 3
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